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* In [3]: int_a = input(‘shu ru shu zi:')
* 'shu ru shu zi:233

* In [4]: str_a = input('shu ru zi fu chuan:’)

* shu ru zi fu chuan:'spade’




far

* In [13]: dictl={'food':'banana’,'cost':24}

* |In [14]: print( "The %(food)s costs %(cost)7.1f
cents" % dictl )

* |In [15]: print("%d + %d = %d when you
miscalculate it" % (1,1,3) )




S

* In [30]: f=file("D:\\test.txt", "r")

* In [30]: f=file("D:\\test.txt", “w")
* In [30]: f=file("D:\\test.txt", "r+")
* In [30]: f=file("D:\\test.txt", “w+")




AR, ZAmERE

* a=06/4
* a=6//4

e a=6/4.0

* a =floor(6/4.0)
* a =ceil(6/4.0)
* a=floor(4.0)

* a=ceil(4.0)



Uyt

o collection1=2,3,4,[1,2], XA 425287

°* CO ect|0n2=I|st(coIIect|on1),
collectionl=tuple(collection2), pythoni=*

* [1,2] in collection2
« Il E collection2=[ 2,3,4,[1,2] ]
* a = collection2.pop()

e collection2.append(‘phase’)



Uyt

° EZH:]JH) CO”eCtion[/\i@Z}l{Zﬁ{/ﬁ], ;I{/%H)E?
e collection3=[2,3,4,[1,2] ]

=

R E

* collection3[1:3], collection3][:4],
collection3[3:0]

o B RENMBUTEL:
e collection3[::-1], collection3[-1:-5:-1]b 4
collection3[-1:-4:-1]




Uyt

* a={}

e setl={[1,2,2,3,4,4,[3,4] ]}
 d1={'a':'some value','b':[1, 2, 3, 4]}
e d1[25] ="an integer’

 d1[‘35’] = 'an integer’

* 35ind1?

* ‘an integer’ in d1?



Uyt

e d1=1{25:"integer', ‘35": 'integer’, 'a": 'some
value', 'b": [1, 2, 3, 4]}

e dl.keys()

e dl.values()
e dl.get(‘35')
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o T string 20N EGE 2 FAT Y A 2R AR

. 19l e, TRy 5, el LLEX |
%::, TR ANH] AR, yﬁ?f’ﬁiﬁ_E é

* In[132):c="""

. .... This is a longer string that

. .... spans multiple lines

* In[133]:c

* Out[133]: '\nThis is a longer string that\nspans
multiple lines\n'



« FREWEAHRETHCK A

e aStr.center(w):
|

e aStr.count(item):

e aStr.ljust(w):
e aStr.rjust(w):
e aStrlower(): X
e aStr.upper(): X
e aStr.find(item):

e aStr. spllt(schar)
R [A]— N1 5%

TR

l—r/V‘/V‘lz

0| — NFLRFER, 5N

—NFRE, £2EKRE

e 240 =

R el —NNZREE, wKE, RPEAEE

1R 8] R 457 R H Blitem PR IR R
1 [A]— l?fﬂiﬁn, wi B, R E A

= 55 =

ﬁfw N, wkKE, [RFPAEEA

Q@Mm,‘ﬂﬁﬂﬁﬁmm?ﬁuﬁ

hschar N orF@rT, R JR 515 E

« 2%, aStrreplace(old, new[, count])

3/\35”



FRFER

* In[134]:a = "this is a string’

. .... b = a.replace('string’, 'longer string')
. R o

* Out[134]: 'thisis a longer string’

* In[139]: a.split('i')
* Out[139]:['th','s', 's a str', 'ng']

* In [140]: a.split('is')
 Qut[140]:['th','', ' a string']

¢ l@\%: a[3]=ls’
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N E 5 R
o lenH TIRME LRI A =114
* In[1]:s1={1,33,'sell','buy’,(2,3,5,'right')}

* In[2]:len(sl)
e Out[2]:5

e 11=[2,4,5,'left','right',(6,7,8,'seal')]

* len(l1)

* Out[6]: 6
* len(11[5])
e Out[7]: 4



N E T3 R
e Enumerate ] TEREZ Y HT A1 RG], FEAER
%EHTU\%%ﬁ%A’o

* In [174]: some_list = ['foo’, 'bar’, 'baz']
e ....mapping = dict(enumerate(some_list))

* In[175]: mapping
 Out[175]: {0: 'foo’, 1: 'bar’, 2: 'baz'}




NE 5 R
* Sortedn] LLREAEAR] PP 413 [5] A — AN P41 3R
e In[177]: sorted([7, 1, 2,6, O, 3, 2])
e Out[178]:1[0, 1, 2, 2, 3, 6, 7]

¢ R TAF4:

* In[177]: sorted(set('this is just some string'))

° OUt[177] [II ] lg’ Ihl ll’ ljl’ Iml lnl lol lrl lsl’
l 1 l]




N B P51 R
o ZipH TR ZA AT RO, AEROTAHMSIER . He] Bl
1T 53 2 K BOXT
* In[179]:seql =['foo’, 'bar’', 'baz']
. .... 5€g2 = ['one’, 'two', 'three']
. .... Zip(seql, seq2)

 Out[179]: [('foo’, 'one’), ('bar’, 'two'), ('baz’, 'three’')]

* In[181]: pitchers = [('Nolan’, 'Ryan’), (‘Roger’, 'Clemens’),

. .... ('Schilling’, 'Curt')]
. .... first_names, last_names = zip(*pitchers)
. .... first_names

 Out[181]: ('Nolan’, 'Roger’, 'Schilling')



N EFr 5 R AL

* ReversedH T 7+ 4 JLE

* |n [182]: a=list(reversed(range(10)))
* Out[182]: a=[9,8,7,6,5,4,3, 2,1, 0]
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Bm{Z: CiES Wifflelse if
In [143]: score =33

In [145]: if score >= 90:

. print('A')

. .... elif score >=80:

. print('B’)

. .... elif score >=70:

. print('C')

. .... elif score >=60:

. print('D')
. ... else:

. print('F')

F
« ERZEHERIAT



FAELE
o Python™ % £ switch-case 4514
* Python 'Y = H #H1/ERT
* Xif Celse YT TCIHEF HHIC? XY, A
EHNE NBIE S >0

e x=3if4>=3 else4
* X
e Out[148]: 3




iEEE

e [F|1Z: CiESfor(inti=0;i<n;i++)

o forit) FH T8 i — Rl B AR S Al A
mAR. TR

» forifiR) g T, ZomlH D !

e foritem in collection:

o HARRICIEE S HEZN: foriin range(n)

Lll‘

e While, continue, breakHEFICIE=S —F




&S5

* range()

1T A —d 1Al

I

« xrange() B FFEIIIIRE, HEATNSGr=4

14

H

R H I A

e Forizit A IEFCH Hfor
* In [146]: wordlist= ['cat’,'dog’,'rabbit’]
. ... letterlist=[]
for aword in wordlist:
for aletter in aword:
letterlist.append(aletter)

. .... letterlist
 Out[146]:['c, 'a','t", 'd’, 'o', 'g', 'r', 'a’, 'b’, 'b', "i', 't']

S IEERINLIER



3

¢ H_jxn :Hij; ﬁl J/ﬁi‘ =T \?/R\
TR g d TSR RTEIIRG, SI, HR

HIRHEF R RAR + foriEa) +(ifiEH])]

: 4?]%’52 kB T E A R 5 2 FEI A 2

. [x. upper() forx in strlngs |f Ien(x) > 2]
. Out[149]: ['BAT', 'CAR', 'DOVE', 'PYTHON']

* In [150]: unique_lengths = {len(x) for x in strings}

.... Unique_lengths
 Out[150]:{1, 2, 3, 4, 6}
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R R,
» [lZ: CIEE AL AT A BRI EREL?

o PythonJERZE X FE “def” R8>, —1
R, —HSE, — PEREUE, Frlae
R [BE

e def function(paral, para2, ...):

return ..

o *Elreturn, M) Bk iz e B, T E A
AN HAT




* In[151]: def my_function(x, y, z=1.5):

. et ifz>1:

. returnz * (x +y)
. else:

. returnz / (x +v)

* In[152]: my_function(5, 6, z=0.7)
* Out[152]: 0.06363636363636363

* In[153]: my_function(3.14, 7, 3.5)
* Out[153]:35.49



ZHREY
o K2 Widfunc(*args, **kwargs)iX £ 1) bf
BOE S, XA E N AR
o N T TERKXS aERTFN, BERSHE,
i 2 A python T R S HHIRAL
« HoE, "IEZE
e def funcC(a, b=0):
print a
print b




SRR
o HIR, NERH=SH:
* In [158]: def funcD(a, b, *c):
. print (a)
. print (b)
. print ("length of c is: %d " % len(c))
. print (c)

* In[159]:funcD(], 2, 3,4, 5, 6)
¢ 1

¢ 2

* |lengthofcis:4

* (3,4,5,6)



SHRAY
o HIX, NMESHNCEFESE:
* In[161]: def funcE(a, b, c):

. ...: print (a)
. ...: print (b)
. ...: print (c)

* In[162]: funcE(100, 99, 98)
100

c 99

98

* In[163]: funcE(100, c=98, b=99)
100

e 99

« 98



ZHREY
o« mJE, R X
* In [165]: def funcF(a, **b):
. .... print (a)
. .... for x in b:
. oo print (x +": " + str(b[x]))

* In [166]: funcF(100, c="hello', b=200)
* 100
e c: hello

 b:200



» IRATREZKIZ AN B N BRI, (Hah
Pits VR 1 fEARAT]

e Lambdarf%l, M, currying4 fligs,
itertools







® FHERH

Eﬁ&tﬂ @ i

® HERE

Index




FHERA
e 1. NameError: 215 A —> A& BH R AR &
>>> v

2. ZeroDivisionError: 5HUNO
>>>v=1/0

3. SyntaxError: i&VE4E 1R
>>> int int

4. IndexError: Z5|#HJEH
>>> List = [2]
>>> List[3]

5. KeyError: FHLICEE AL

>>> Dic = {'1":"yes', '2":'no"}
>>> Dic['3']



a7 oN
iR
e 6. |OError: i N 4 ix
>>> f = open('abc')

e 7. AttributeError: i a] ARFINS % &
>>> dictl.reverse()

e 8. ValueError: FUH%H 1%
>>> int(‘d’)
ValueError:invalid literal forint() with base 10: ‘d’

e 9. TypeError: ZFAUGER
>>> iStr =22’ >>> iVal = 22
>>> obj =iStr + iVal;

e 10. AssertionError: Wi =4EiR
>>>agssertl =1



Fr s A
o fdiftry-exceptifit), FRATTA] DX 7 b AT kb BE
¢ 1%/542:5*@
e try:
# 1] B A S B )
except:
#2550 R AR AT R E ]
else:

#try D) B AR THAT
finally:
HICTe WA R PRAT




AL

 f=open(path, 'w')

* try:

 write_to file(f)
e except:

e print 'Failed’

e else:

e print'Succeeded’
* finally:

e f.close()



H &2+ 5
« A LME Hraisetif) B Ol 5

* class ResultError(IOError): pass

e ifscore>90:
. raise ResultError('Can\'t be that good!')

e else:

. print(score)

 ResultError Traceback (most recent call last)
e <ipython-input-173-951814d5b258>in <module>()

. 1 if score>90:

e -—->2 raiseResultError('Can\'tbethatgood!’)

- 3 else:

. 4 print(score)

* ResultError:Can't bethat good!
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Sandy Jack
JE VE Jo 1 -
W24 W22
P 51l :F ESHIRY
H15:1.78 £ 151:1.80
fRE: 50 fAE: 60
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RHIE X

o Pythonf¥ Hclassfr B FRE XK, REZHHE
FR—REXS. 1,

class Car:

def infor(self):
print(" Thisis acar")

RRIFERDEH —1PSHself, selfftF

KREBIBAIN RAY . 72250 AT
5] RS2 B PR BT 75 B DLself N BT (T IR

F)o
D
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PR 4
- [#l8-1] EHIBEHEMEREME.
e class Car:
e  fuel='petroleum’ #E KB
e def _init_ (self, c):
. self.color=c #5E X L4 J8 1

bRb

e carl=Car("Red")
e car2=Car("Blue")
e print carl.color, Car.fuel

* Car.fuel='gas’ #HEBERE T
¢ Car.owner='B &' #8281
 carl.color="Yellow" #HESER 8
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* RBTTIE BB HENGFSHE.
* BTFRIE__ %)\'stﬂ\“ﬁ“ji/i, E—1TH

@ staticmethod PR iR F &
W2 AEHIE

* RETIE RAHEHRBETHR, B15F
REH B O AR HTIEMBE IS A8

JHEEEXN RA WA, A TR EET

SE LA i R e

EselffifH; FHSTEBTR,
FEE T %zﬁ 1, BFSHIER

HAHER
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class Fruit:

price=0
def __init__ (self):

self.__color= ‘Red’  #&E XFEFEEHcolor
self. _city="Kunming' #& X & B MH B Hcity
def _ outputColor(self): #E X F\H 77 ZFoutputColor
print(self. _color) #15 M FA 5 J& color
def _outputCity(self): #E X F\H 7 ZFoutputCity
print(self. _city) # R\ & P city




7 1] 4% 1

class Fruit:

price=0

def __init__(self):
self. _color= ‘Red’ #E X% B R E & Hcolor
self. __city="Kunming' #5E X5 B FE B ity

def __ outputColor(self): #5€ X F\A 17 outputColor
print(self.__color) #1575 FAF J& color

def __ outputCity(self): #5€ X F\E 17 ¥outputCity
print(self.__city) #ih5 M A& M city

def output(self): #5€ XA I Eoutput
self.__outputColor() #13 FH A8 J5 Y outputColor
self.__outputCity() #14 F A8 J5 % outputCity

@ staticmethod

def getPrice(): #5E WS 7 getPrice

return Fruit.price
@ staticmethod

def setPrice(p): #5E N7 EsetPrice

Fruit.price=p



B —
i [ 45
FEF:
apple=Fruit()
apple.output()
print(Fruit.getPrice( ))
Fruit.setPrice(9)
print(Fruit.getPrice( ))
apple.__outputColor( )
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° Pythonq:'%mm r@%ﬁ% init__, )EHEE

NEEGEYIE, EEMITRE B 215
1T

e PythonHRIIITHIRERE__del__, FXR

BB % 5 HREIE, ZEPythondit B}
% 25 8] Z /1 B 34T
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° Pythonq:'%mm r@%ﬁ% init__, )EHEE

NEEGEYIE, EEMITRE B 215
1T

e PythonHRIIITHIRERE__del__, FXR

BB % 5 HREIE, ZEPythondit B}
% 25 8] Z /1 B 34T




G DT

class Car :
def init_ (self, n):
self.num=n

print (‘dR 5 N, self.num, ‘HIEHET..)
def del (self):
print(‘Zm-5 N, self.num, ‘RIZEFE T ...")
carl=Car(1)
car2=Car(2)
del carl
del car2




HiE B, A VA 254
_add__ + Xt Nk 7=X+Y, X+=Y
__sub__ - X I Z=X-Y
__mul__ * X 53k LA S 7=X*f
__div__ / X 5 Bk CASESL 7=X/f

_le__ B3 X 5 bt X==Y, X!=Y
__Str__ a1 HY Ay X 5 B R A print X
get_len KE TR len(X)
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BIF: Y% ﬁﬁﬁ%ﬁ i
- \V/ 2 _ 2 ’ :‘
R I DBl

import math
class Vector2(object):
def __init__ (self, x=0.0, y=0.0):
(self.x,self.y)=(x,y)
def str (self): #&udHiH
return "(%s, %s )" %(self.x, self.y)
def __add__(self,other): #[m& Iy
third=Vector2()
third.x=self.x+other.x
third.y=self.y+other.y
return third

i
S
E}g&
Slls




e —
o H AT E

BlF: X —1RVector2 R 4 &,

HERHEEMfBEEEHRNEREHBEE.

class Vector2(object):

vl=Vector2(1,2)
v2=Vector2(3,4)
v3=v1l+v2

print v3
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» PARANISEAT B, AT
T FRE, N TS E R AT P4k
— PN ERTFRIR. ERRRRT, R

RETHFHIRIEAKR, #Ficit KRR
j\j ?;@‘ Person

N

Student Teacher

RITGEAR TR R, SR T2R
D
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8 7K
o KAKKARA AL, WMHRcAR2KITR, 2
B3R, BAABRSHTFE.

- IR adkx&Kb, H2aBBGbH—VBEBEMGE.
* PythonXZFF% 47K

— class A:

— def _init__(self):
— pass

— class B:

— def _init__(self):
— pass

— class C(A,B):

— def _init__(self):
— pass
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» FMARIKIXNRAEEF—MER, SRR
X R == EAF T8 (BIJ5
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* Python FHIZSHEE BELW,

Python N A

& HIFRFE

12 UM RSEBLER 77 %
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e class Person(object) :

. role=" ordinary’

o def init (self, sl, s2):

. self. IDcard=sl

. self. name=s2

o print (C constructor of Person’)
. def greetings(self, friend) :

. print Chello, ’, friend,’!’)



47K

« class Student (Person) :

. def init (self, num) :

. self. number=num

. def info(self):

. print (Student.role, self. IDcard, self. name, self.number)

. def greetings (self, friend):

. print ( ‘\” hello, ’, friend,’!\nI am a student!” ’, sep="")

« class Teacher (Person) :

. def init (self, t, sl, s2):

. self. title=t

. super (Teacher, self). init (sl, s2) #FAFREHIME KL
. def info(self):

. print (self.role, self. IDcard, self. name, self. title)

. def greetings (self, friend):

. print C\” hello, ’, friend, ’!\n Time to hand in

homework\” ’, sep="")



e
- R

2k 2K
e Student.role = 'Student'

e stud1=Student('2012009')

e studl.IDcard='533001198006250079'
e studl.name='Tan Xiaofeng'

e studl.info()

» studl.greetings('Song Rentou’)

e print(")

* Teacher.role='Teacher"

* teachl=Teacher('professor', '533001197012130055', ‘Mao Zexi')
e teachl.info()

e teachl.greetings('Yao Guake')



4r 7K
o« Bt

e Student 533001198006250079 Tan
Xiaofeng 2012009

e “hello, Song Rentou!
e T am a student!”

e constructor of Person

e Teacher 533001197012130055 Mao Zexi
professor

e “hello, Yao Guake!
e Time to hand in homework”



4r 7K
o« Bt

e Student 533001198006250079 Tan
Xiaofeng 2012009

e “hello, Song Rentou!
e T am a student!”

e constructor of Person

e Teacher 533001197012130055 Mao Zexi
professor

e “hello, Yao Guake!
e Time to hand in homework”
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e ¥4 ]——LogicGateZ
« JEM:: label, output
e J7V%: getlabel, getOutput, performGatelogic

class LogicGate(object):
def __init_ (self,n):
self.label = n
self.output = None

def getLabel(self):
self. label

def getOutput(self):
self.output = self.performGatelLogic()
self.output




e
o —JLIE ¥ ]——UnaryGate3
e JEM: pin
e J7i%: getPin

AN

class UnaryGate(LogicGate):

def _init_ (self, n):
LogicGate. 1init_ (self, n)

self.pin = None

def getPin(self):
int(input("Enter Pin input for gate

self.getLabel() + "--="))




e
e —JLIZ%H|]——BinaryGate3
e JEME: pinA, pinB
e 5V%: getPinA, getPinB
24

25 class BinaryGate(LogicGate):

26

27 def __init__(self, n):

28 LogicGate. 1init_ (self, n)
29

30 self.pinA = None

self.pinB = None

A7

def getPinA(self):
int(input("Enter Pin A input for gate
self.getLabel()+"--="))
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def getPinB(self):
int(input("Enter Pin B input for gate
self.getLabel()+"--="))
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e 3E]"]——NotGate3s
e JVE: performGatelogic

class NotGate(UnaryGate):

def _init_ (self, n):
UnaryGate. 1init_ (self, n)

def performGatelLogic(self):
p = self.getPin()

p 1:
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e 5 7AndGatefIEY] JOrGate (HAT5ERL)
« JEM:: label, output
e J7V%: getlabel, getOutput, performGatelogic

LN

class AndGate(BinaryGate):

L on

def _init_ (self, n):
BinaryGate. 1init_ (self, n)

LN

L on

def performGatelLogic(self):
a - self.getPinA()
b = self.getPinB()
3 il b 1:
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| H & ok —— & 25 Connector3

from

gate

class Connector:

def __init_ (self, fgate, tgate):

self.fromgate = fgate
self.togate - tgate
tgate.setNextPin(self)

def getFrom(self):
self.fromgate

def getTo(self):
self.togate

AN
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UnaryGate=£3)
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Connector

class UnaryGate(LogicGate):
def setNextPin(self, source):
self.pin None:
self.pin = source

RuntimeError('Error: no empty pins')
def getPin(self):
self.pin None:
int(input("Enter Pin input for gate
self.getLabel() "-->"))

self.pin.getFrom().getOutput()




* BinaryGate=£3)
o [F]3, 1% HpinAFIpinB

class BinaryGate(LogicGate):
def setNextPin(self, source):
self.pinA None:

self.pinA = source
self.pinB None:
self.pinB = source

RuntimeError('Error: no empty pins')
def getPinA(self):
self.pinA None:
int(input("Enter Pin A input for gate
self.getLabel() "--="))

self.pinA.getFrom().getOutput()
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>>> gl = AndGate("G1")

>>> g2 = AndGate("G2")

=>> g3 = OrGate("G3")

=>> g4 = NotGate('G4")

=»>> ¢l = Connector(gl, g3)
>>> c2 = Connector(g2, g3)
=>> 3 = Connector(g3, g4)
=>> g4.getOutput()

Enter Pin A input for gate G1--=0
Enter Pin B input for gate G1-->1
Enter Pin A input for gate G2-->1
Enter Pin B input for gate G2--=1
0
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